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ZEMOE Integrated Speaking — S3456
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1. S3 Reading: Z% policy LR A—H4EBESL—IRE baster dormitory ,
HtFRAREIEMES | RREXFEEHTA—ZFEE—K  KHEF
[BRA LA —EEEERR , EFEEA—,
Listening: BREXFHNSE | 1.4SMECSER , JFMARA—/INEZ— il
Ef ARRERY |, BEMRE/ NEFRE—ERESEFEE. 2 L0
HEAMRASIREREIEMMRESE |, R AEEERREN EFNE S LEXA
LA R EZ R

INGERNZREBIZSZR: hitp://bbs.zhan.com/thread-34699-1-1.html?2tf12

S4 Reading: k<F kinaesthetic learning F§ body language , i.tZF 4
physically involved in. Listening: ZBIRHFH/NEHFEITER , FRECE
MBI AEHIERE BFRE M ETREEET 7 RN,
WFE P, —MoiERE , —MERS , ARRIELEAR | XA%S
HDNARUZERIRE. [AREEESHIFH k teaching FITFLE,
INIERNRTRBIESZE: hitp://bbs.zhan.com/thread-34700-1-1.htm|2tf12

S5 Problem: SBRYEM—IIXTEYIRIRER T , ERFZRERIEREEPH
PBIELIREELT , JRT.

Solutions: 1. EBEE, HERILASME order FIRERE—ERRLUT |, KA
X ; 2. Buy old books from the students of last year. The man thought the

condition of the used book is not good. He doesn’t like. F_-HE#HIT YR
18, EAER,
INEHEREBIZZR: hitp:/bbs.zhan.com/thread-34701-1-1.html?tf12
S6 Lecture: BBAFIE , FF collect information for business marketing
B 2 NEL L E—2 quantity way |, filF2 ,— car manufacture, use X
N3 %@ﬂkiﬂﬁlﬁ , BRI iﬁﬁ?ﬁ%ﬁ'ﬂ%ﬁ'Miﬁkﬂﬁﬁ?ﬁ?ﬂ’ﬂg)ﬂ@@;
/N, BATIIER opinion based HMEAGEEZ RN, ZFRIZATNT
BIRATABZTFIEFRWLE/ , UFAZAE survey [HERE , A2
car §Y back seat B , #ZFRISAEFIR.
INIERER B BB ZE: hitp://bbs.zhan.com/thread-34702-1-1.html?tf12

080105 CNfe]s]

2. S3 Reading: university decision: no parking of first year undergraduate
student to reduce traffic problem.

~

Listening: The man doesn’t agree, because there are 8,500(85? AHRE ,
{mM 85 A) freshmen applying for school parking. The decision won't
resolve the traffic problem. University should build new parking lots. For
example, there is an empty space behind football playground.

INIEFREBIZZE: hitp://bbs.zhan.com/thread-83738-1-1.html?tf23
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S4 Reading: extinction to ignore people repeated behavior. 2EZTHE
AE reward EIELL |, &REHEXK.

Listening: 1515+/\%JLE! grocery , /Mz)L—F&Z! cookie M ASEARLE |, 15
IBHEAZNILT cookie ; LUE/INZ)LESIXEE ; 1885971k LS LEX
FIASIE |, £\ LERBETE |, ignore him , allow him crying ; LUGFEiAIX
=

INIERZR R BIZSZR: hitp://bbs.zhan.com/thread-83740-1-1.html?tf23

S6 Lecture: XFREWETR, CIEWEBRLZFTE , RLABEXKIRER.
ZHIEEZFMDAEL : business plan ] executive summary %3 : T4E
GBPE—HE , 8iFiHH  ARBREFEFRERAFEEINER. NEGEER
BEOMEE : ITRIPIgEREZ T , AZEUREBERIC , REIEEME |, X
RERDBREUT. ME—EERRSIAESND. HIF  —MBKk  1E
PARER , LEiftaEITLlB  (BERNEEEARTEE  FREIHME | ¥
K2 AE T AT R PEMIgEA.

INIEZREBIZZR: hitp://bbs.zhan.com/thread-83741-1-1.html?tf23
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3. S3 Reading: B AREINFRERIFT computer lab , EJI|HAY computer lab
f?; : HEBABETFA , BIMNERHA literature building EBEA A BIFFRI LR
SREEHT lab.

Listening: woman FIMRERREX M5 | BtttE S EHHRARINA
BEAXREEW , 5551 literature NFALEBERERSICX , FEAEMIILE
IRRIR R E BRI fE,

INIEREGIZZR: hitp://bbs.zhan.com/thread-88177-1-1.htm|?tf23

S4 Reading: Oversimplified error. People tend to oversimplify the cause of
an event.

Listening: The professor ran into his friend at a party. They talked about
how people today live much longer lives comparing to 100 years ago. His
friend said that people live longer because of the advancements in modern
medical practice. But the professor pointed out there are other reasons
being ignored here. Such as better safety regulations, and people are
paying more attention to healthy diets.

INIEHAREBIZZR: hitp://bbs.zhan.com/thread-88178-1-1.htm|?tf23

S5 Problem: —MNEBAERRKENFII— N ZE—#kEE E chemistry BIE SR ,
ERIGR R ENR B EBEL—A B RIREANE.

Solutions: WHEBNMALEIE , AEHEEIC , FI=REL , B
BAEBHEMAG. SMRERER—IE L chemistry i} , A/FEAXE
EE, BEIRBPRBAGEH LT S, BAXANB#ftEBFHEESIRRE X
APBRICE , REMHRNCK,

INIEHEREBIZZR: hitp://bbs.zhan.com/thread-88180-1-1.html?tf23
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